
Q1) Attempt any five of the following : [5 × 2 = 10]

a) Define counter intelligence.

b) Define intelligence.

c) Define Security.

d) What is economic mobilization?

e) Define War.

f) Define Economic Warfare.

Q2) Attempt any four short note of the following : [4 × 5 = 20]

a) Defence Organization.

b) Defence Management.

c) Defence.

d) Intelligence.

e) Security.
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Q3) Attempt any four of the following : [4 × 5 = 20]

a) Write the role of Intelligence.

b) State resources of war.

c) Explain the history of Indian Intelligence Services.

d) Explain the War time Economy.

e) Explain the Indian Internal Security.

Q4) Attempt any two of the following : [2 × 10 = 20]

a) Explain in detail Economic Influence on state & Center Relations.

b) Explain in detail Economic diversification in various states of India.

c) Explain in detail the Process & Principles of Intelligence.
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àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s H$moUVohr nmM àíZ gmoS>dm. [5 × 2 = 10]

A) H$mC§Q>a B§Q>o{bOÝgMr ì`m»`m H$am.

~) ~wpÜX_ÎmoMr ì`m»`m H$am.

H$) gwajoMr ì`m»`m H$am.

S>) Am{W©H$ J{V_mZVm H$m` Amho.

B) ẁÜXmMr ì`m»`m H$am.

\$) Am{W©H$ ẁÜXmMr ì`m»`m H$am.

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm. (H$moUVohr Mma) [4 × 5 = 20]

A) g§ajU g§ñWm

~) g§ajU ì`dñWmnZ

H$) g§ajU

S>) ~wpÜX_Îmm

B) gwajm
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àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s H$moUVohr Mma àíZ gmoS>dm. [4 × 5 = 20]

A) ~wpÜX_ÎmoMr ŷ_rH$m {bhm.

~) ẁÜXmMr g§gmYZo gm§Jm.

H$) ^maVr` JwßVMa godm§Mm B{Vhmg ñnï> H$am.

S>) ẁÜXH$mimVrb AW©ì`dñWm ñnï> H$am.

B) ^maVr` A§VJ©V gwajm ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s H$moUVohr XmoZ àíZ gmoS>dm. [2 × 10 = 20]

A) amÁ` Am{U H|$Ð g§~§Ymdarb Am{W©H$ à^md Vnerbdma ñnï> H$am.

~) ^maVmVrb {d{dY amÁ`m§_Yrb Am{W©H$ {d{dYrH$aUmMo Vnerbdma dU©Z H$am.

H$) ~wpÜX_ÎmoMr à{H$`m Am{U _wbVËdo Vnerbdma gm§Jm.




